ANSWERS- VOLUME 2: EQUILIBRIUM
Chapter 3, Cross-Sectional Properties

problem 3.29, page 144

Remarks: See §3.2.4, pages. 114 till 115, example 7

ANSWETS:

a. (y,z)=(0,0)
b. I,, =281667 mm*
l,, = 256667 mm*
c. 1,,=18,027x10° mm*
d. 1, =5926x10" mm*; 99,7%

Explanation:
All dimensions in mm
b. Iy, ={&x5x70%}+ 2| x45x5° + 45x5x17,57 | = 281667 mm*

I, = 25 {5 x5x40°| + 2x {5 x 405 + 40x5x 22,57 | = 256667 mm*

C. 1y, =2 2x2600° | +2x {1800 2x13007 | =18,027x10° mm

A 1y = Do + {125 Lppitoner X 12757 | 4+{ 45 |y ittner X 8007 | + {43 |y itener x 4007} =5,926x10'2 mm*
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